
Fo DA : L7

Concentration
of

Measure



EH:] - h
Uarcx:] =p?

n R.V. ×
.

.
4

. -
in Fdf

Ñ=÷É,✗:
n ELE]
• Var CI]= %

. . . .,,µµ⇒|



Probably Approximately Correct
(PAC)

er •
rance

aPr - ELI]/ z e ] , gprubabil
:b

failure

f×-f-¥☐⇒



YE.fi#uitsff-o
- Ect]

for an ,
¥

- ✗ zo My
✗ 70

PrE×>✗]sE÷@=g
EEt-1-o.o-o.in
f- E¥

G- ✗ - EG] 5--1=-4--7
Pr [ ✗ - EG] > e] ± E[

(Et EG])=d



R -
V . R rain in SLC in Jumna in mm

R ? °

ECHR] - 20mm
-

PRCR >_ 50mm] ± E.gl?---Yo==o.4



R SLC Rain June

chebgshevlnequat.it#ECe7--zamm
R.V. ✗ |Var(R] - 9mm'Pr[R > 50]
- E- [×] - u sprat- ECRU > 30]

" " "

prflx-E-f.is/ze)tUII@--s
-100 ECR]



Chebyshev
✗
Ii
×
>
, . . -

Xu Xi - f

Efx :] -u ECI]=u

V.rfii ] -- or ja.CI ]=%
I II. ✗i

Prflñ - EGIL > ☐ ±
";=÷⇐



Fair die T RV
.
roll 3

1-=/ if 3 up . 116
i

o w . f- ⇐ Ti
Roll die in -120 times

T= # times roll 3 ECT] --20
Uar(Ti]= 5136

Pr[ 7- > 40] I

Pr[ IT - zolzzo]s÷÷?= 120.400-4%9?EC?⃝



cherno-ff-H.effd.in#quaitsXi,Xz....1nRV.fXi3I.dfEfxiT--
µ

Xi c- [a ,b] D= b- a

I=±§?✗i for
any e >o

Prfl-x-E.ci/zift2expf#:-@



g-
8 Ti =/ → •

" 6
Efi:) --

'

lo Ver [T:] _- 5136
⑧ a. w

F- =L 4) Ti n-120 F- # 3s
-
- I. n

Pr[n -1=>40]=Pr[i > '5) €-0.0026
=Pr[ F-Efi] >

' 16]±Pr[fi-E[⇒ ) > '

"

É⇒=z - expf
°)

= zexpf-I.ro)=z.e×p(
-E) 50.00226



Cheb
Given error tolerance { C- a. 1):::÷÷÷:p::÷prob . d. failure JC-o.us) ÷?=J

exp ( %)= To n=

is

Y =L (Tor)

n=¥.info)



Markov 1 R.VE

✗ 70

Cheb I F- [×?
e- RY

,

n Va . Cx:]

C-H n Ry
.

Ecxi]

s.tk . c- [a. b]
D- b- a


